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CTET Paper 1 - 28 December (Memory Based)

CTET Paper 1: CDP

Development that occurs from the centre or core of the body in an outward direction is
Ans: Proximodistal development

According to Piaget, the stage between 2-7 years is
Ans: Sensori motor stage

The first stage of Kohlberg’s six stages of Moral development.
Ans: Obedience and Punishment

While sitting in the classroom , Abhishek always see the garden outside of the window and love to
talk about various birds and trees. Abhishek presents us an example of which of the following
types of intelligence?

Ans: Naturalistic intelligence

When a student does not sit still in the classroom or do excessive physical movements. It is a sign
of
Ans: ADHD

In ZPD, the letter P stands for
Ans: Proximal

ZPD- Zone of Proximal Development
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According to Vygotsky, which of the following is the main ways of development during the pre
school years?
Ans: Make believe play

Which age group falls under the later childhood category?
Ans: 6 to 11 years

Dysgraphia is a type of learning disability associated with
Ans: Problem in writing
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CTET Paper 1: Mathematics

The doctor tells a boy to drink 14 glasses of water in a day, if 300 ml comes in a glass, then how
much water will he drink in a whole week?
Ans: 29l itre and 400ml

22 coins of 10/-, 15 coins of 1/-, 25 coins of 2/-, 30 coins of 5/-, how much will be the total
amount?
Ans: 435/-

2/50f3/20is:
Ans: 3/50

How many bottles of 25ml will be filled from a bottle of 400 ml milk?
Ans: 16

The length and breadth of a rectangle are 5 cm and 3 cm, if squares of 1 cm are to be placed in it,
then how many squares can be placed inside it?
Ans: 15

A man drinks 500ml of water in 24hr, how many liters of water will he drink in 16 days?
Ans: 8 liters

2/6*4-7/8+25-5
Ans: = 20.45

CTET Paper 1: EVS

Which bird can move its neck back and forth with a jerk?
Ans: Mynah

Which Indian states touch the boundary of Tamilnadu?
Ans: Andhra Pradesh, Karnataka, Kerala

Ram walks 4km towards North, then 3km toward west and finally 8km toward south. How many
kms is he away from his house?
Ans: 5 km

Match the given locations with correct type of houses built in that area.
Ans: Rajasthan - Mud houses having roofs made of thorny bushes
Assam - Elevated houses made on bamboo pillars

Ladakh - Houses made of stones with wooden floor and wooden ceiling
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Tapioca and curry made of coconut is a food of the state
Ans: Kerala

Honey bees are attracted to the flower of
Ans: Litchi

Green chilli came to India from
Ans: South America

Which statement is incorrect about the elephants?
Ans: Elephants has regular diet of 200kg of green leafy material per day
Elephants sleeps for 10-12 hours per day

The best time to start bee-keeping is
Ans: October-December

What was the name of Jim Corbett National Park during British rule?
Ans: Hailey National Park
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